y

[ Class 9h student, Mahj v

isits the bank for | 3 COHSidef ‘Ihe Excel fon_nllla for lhé
the first time along with her father, She 121;;::1:} o ﬁ?rq ExCel .ﬁ
observes that father js issued with a small | - % ‘T'mk,}qn
book which her father tells that it is cheque - | \
book. She opens i and finds some pre- AlBI|C D_d . .;
printed nformation on it. Some of the 60| Al |75 | a1 == _
information printed is same ol

w'l\-’_‘

__L- 1'-"-(;],»1.‘.
0[A2]70 A2 < if(Azzcza..lf
90 [ A3 |90 | A3 = if (B3

What will be the outpyt in colurrm,;{l
@ 5§ @ fly wm B ? §
|

i

L&

Identify the Specialised featyre
(A) BAR Code

(€©) MICR Coge

to change it?
of the cheque,

(B) Qr Code

- B
D) OMR Coge @ I vt T
(E) Question nc.)t attempted . ]
m9ﬁwwmﬁm%m%ﬁm © ¥ (D) g
; Wﬁh%t%%@m%ﬁsmﬁmﬁwaﬁ L F -
TR & T Ry i ¥ 9% Bed ¥l @ (E) " Question not attempted / ey
ﬁ@ﬂﬁ%mmﬁ%ﬁﬁwwqﬁﬁ%
SET ¥ |3 B AT o T |4 10p Panels or flat Panel display
wm%m@@mw%mw%l Property of
T R T ERIE I § R e o 3 (A) Thicknesg (B) Light
T X T i S T 7 U o 7w Py ©) Size (D) Fiter
S ey (E) Question ot attempted
LCD ¥ o Ty
(A) BAR = (B) QR BAREE RS
ST MICR#e D) oupR e W B) e
C
()  srafa yeq 5

s | .
21 20% of 500 i5 equy (o X% of 400, Thep An 'S @ homogenous structur
9 Starth‘_‘?__“ REN0
value of x is . (A) J g:c:]t: ——— index number.
on, |
500 @1 20%, 400 3 X% & qUat ¥ g (©) Array 21 2erg Eg)) grfay,sz;
5 B “ trlng -
RE LY (E) QlleSHOn‘no ttempteq
() 24 B 25 me%aﬁ___ﬂ
) 26 (D) 23 (A) 3 l . (B)I
] ’ QF
) attempted / 3afg PR ((_«) ; _ a{.g,
(E) " Question not attemp & T, 1 D) " figq @
b} qﬁ -
23INAS-1 | O Page 2 or4,
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L th i th a ﬁ]emOde.
e dlffcrenl components which make @ IZach file can be {ICCCS.‘fcd thr(?ui{ction can be
2 Processor have o be condensed (o fit These file modes du:ldf: thll . mode is <>
Smart Phone. 1 s known as . performed in the file. If the fi _L tents of the
o CMory o, , chip then we canonly - the con
a( fOcessor op 4 chip file.
) gitclm on a chip (A) write (B) delete
= (E) QUQC . On a chip (C) overwrite (D) read
’ N Wy fuftrt wea w) uw s . ‘ —
- TR et v b Y T T T W @ e s ar st G
- e e Wi § qr w7 X 5> fp od
ST Sy & = Fa &1 T e i frerer B s

Q) W g g e ¥ i B ann ) At e .
(B) WY 37 u Ry z’ra’rmwwﬁm___ e
() R st w g (A) fra (B) fuz
((E)) =X BN o o - o (C) gwiET & he 7w v~

R e (E) ergaf@ wew !

18" In LAN, connectivity can be created using "
Wi-Fi, or cables. 10 The instructions og_.data fetched from the
(A) Radio (B) Mobile memory, is stored in the ______ to decode

(C) Ethernet (D) TV and execute.

- (E)  Question not attempted FE & T o Pk ¥ gufeq grar
LAN‘?fWi';’mm—'f—%mﬁW% %ﬁiﬁ@aﬁﬂ(ﬁiﬁ@mﬂmﬁvﬂvaﬁqﬁﬁm
TS T ST FHRIT T S ¥ .

(A) T (B) e (A) MDR "(B), PC
T (D) TV 2
© = (C) ROM (D) MAR
Fana us -
(E) = o (E) Question not attempted / AN Wy
k- converts the analogut.: voice signals into ™
J . Eﬁgi—t—al and then transmitting them over the 1T In mesh topology, th_e requirement of number
" proadband line. of wires for *n’ number of computers can e
£ (A) VorIp calculated using thel' formula )
. ® (\i{:ﬁ?f e Al . 1 e 3 fore Ay A ey
E© Video conferencing Bl T Ty T & & W
12 Question not attempted ; ]
(E) srrars fara @ fefirea o qaeqr ' ;
& GBI S RS \ Ay B n-1) gy r(n+1)
m q¥ #ie &8 T wriaid e ¥ ) == 5 (B) o
) n+(n+l) -
© ——— @) f-’f_‘_z’LJl
(E)  Question not attempted / a1y Yoy

Page 3 of 32 o .




12

The button of the mouse is us%.?d ;fi
display a menu list of diﬂ'cr-cnt commd‘ﬂt-
related to the selected graphic component.
(A) Centre (B) Right
(C) Diode (D) 1;1{:['1

3 uestion not attempte
*(Iga 1? 9T By el g e
Wmﬁﬁ@&mfﬁﬁwaﬁﬂ, W T@ el
EEE RS AT %, W WaRfa @3 % R R
ST ¥
(A) =g
© i

(E)  omufm ygy

B) @
(D)

"TATSOIYRAN’ firy
¥ "ADVANTAGES® 2 4 frgn S 7
(A) AVDANSESGA &
(B) SEGATNAVDA 3

16

|

Office

a Data Entry s the

SEe on 15t and 4 floq, Botl? ?ﬁpute
connected three LAN. H Wﬁve: &
take time to trave], Wh; th

Ich
following hardware ¢y, r:?o
transmission? .
A) Repeater (B). R
EC) Computer (D) Muter

. Odem
E) Question not attempted
éaa) £l Eh‘I'CﬁFRI‘ ¥ 3
70 1 Rl (e P Tty o
Freffed & ¥ @ g Ty ™
FET BT Fohell & 7
(A) ez
©) 4
(E) :g?ﬁaqaﬁ'

Identify the Wrong number iy the
TG ¥ T ey
145, 122, 93, 82, 65, 50

(A) (B) 8
©€) 12 D) 65

(E)  Question Not attempted / &R

TIEE'I_
(D) wry

\(}?{ DVAANTG ASE 18 Icéznlify }t)line .men.u tab of MS-Wor
( AVDATNSEGA- add a table ip 5 document
. hd - . %
(E) Question not attempteq / T ‘ H wfly (=) ey
: T i ﬂ‘"‘ii‘ﬁr’muﬁmﬁmm%g
14) Find the missing term - (A Ingert (B) File
T FET B T oy ©) Page (D) Add
) ) = E)  Questi ted /
4505, 195 ings ) Question not atemped o
(C) 35 (D) 80 to pr()tect the system from malwar
(E) " Question ot attemped / s eq A) Firewa] Protection .6
(B) Avoid using the public Wi/
IS Which amongst the following is o a search (g) Takmg & regular backup
engine? EF)) Opemng the pop-ups q
VT A : ) H te
muaﬁamﬂﬁmﬁ%? ma%?%‘%nnmagmp g
(A) duckduckgu.cnm B e T 3 ?E ;
(B) . bing.com ( !\)_ ag: TG
REE I &r
(C). yahoo.com (B) Rer -Wig-;i ¥ o @ 9@
(E) " Question not atlempted / srgfyg Ye (D) W-arg 5y e
' (E)
23INAS-1] O e



- 24
@ 90><1‘{5__]2x20+l:|
3 . 2 +— =7
? [70x8 11 5] 2
(E) " Question not attempted / arsafea we
21 Dot iX Drinters
L2 : matrix printers are also known as serial
printers. They print one at a time.
(A) Page (B) Character
(C) Line (D) Word 25
(E)  Question not attempted
sie Afeag fiiex @& @faw izt & s & s
ST ¥ | 9 U A A 1 g (ff2)
HLar T '
(A) U= (B) e
(C) @ [ dlw (D) o=
(E) o ued
26
' 1 .3 .3
C3—+1=+3=="7
@ 3 2 4
19 19
2L, 6—
) 7 3 (B) 3
i6 27
17 =
o T ® %
(E) Question not attempted / START UeT
23 The right most bit of the Binary numbers is
Fganarf’raa‘mﬁf@raﬁmﬁfaﬂ"(aﬂm%
(A) LSB- (5 MBS
() MSB (D) LBB
| (E) Question not attempted / SFTafa wes
| ' Page S of
;23[NAS‘1 ] O age S of 32

i,_
|

Round robin is a method of

scheduling. —

(A} Non-Preemptive Scheduling §
). Both l“rccmr[))livc and Non-Preemptive

(C), Neither Preemptive nor

Preemptive

(D) Preemptive Scheduling

(E) Question not attcmrltcd

EE A TH FaLed

(A) & & emfuga w4

(B) & afrga qan SAaEd

(©) @ gf aferpa 1 & qE FHIEA

(D) qd & & afapa B

(E) eraitd 9e

IDE stands for Integrated Development

fafa #1

(B) Evolution

(A) Environment :
(D) Enterprises

(C) Educational

- (E) Question not attempted‘_

IDE &7 arff & — 381es SawHe

(A) FTEEEHE (B) FEIe

(C) T (D) dewrnEd

(B) agaia ue7

On dividing binary number by 11,

the output is 10. Identify the correct option.

faamurly oiw # 11 § 971 39 9T,
amseye 10 Bar &1 wE fased @ gEE |
(A) 011 (B), 110

(©) 101 (D) 111

(E) Question not attempted / Sgafta W

is a networking device that extracts
the destination address from the data packet
and searches for the destination to send the
packet. It sends the signals to only selected
device.
(A) Server (B) Switch
(C) Hub (D) Wires
(E) Question not attempted

TH I & W g 9 BY
ST A6 ® A P ¥ qun 99 viged) @y
WIS HTA ¥ TET e ol A ¥ | qE Haw gy
BT SUST A R Wewr #00. =X

(A) & (B) R
(C) wa (D) .@x (amw)
(E) orgaRa weA

[ Contd...



28

29

?Z)T u_ﬁi‘rﬁazﬁmllﬁf&m

All the information on the intelrntc.’it is passed
usin switching method.
(A) ~ Packets (Bj’:‘ Pouch
(C) Primary (D) Portable - -
(E) " Question not attempted

9T g T fafy zma
ok
(A) (B) uew :
(©)  wrerfir (D)  dréew (garemn)
E)  srafa gon

Given below is a

question followed by two
Statements [ anq I

4T ST 997 &y

R R S SRS

30

. the data in a software So
.-Orgamsmgtion is relative to multip|e
the informach method.” Which are th

using a Sezatums of the software that ¢
im??tr;ﬁ;e data. Identify the best Optiop
to fi |

]

it.

g : a%?iwféaﬁ?mmmt
Hpien N BTN ?
e e 3 P T Wt

A ﬁ.mﬁw%ﬁﬁmﬁﬁzlﬁmm
Youhave to decide Whether the data, provided vl Tl
n the Statement, is/are sufficient to answer ERECH] famed e
the question. (A) Word, Find
uestion : i lection
Find the cost of fencing a rectangle at the rate (B) powerPOII-lt, o
of X 10 per metre. (C) Access, Find
Statement : ery
: D) Access, Query
L. The Length of the rectangle is 30 m. ( \ .
I1. he Breadth of the rectangle is twice (E)  Question not attempted / aafiy y
of'its length, -
Answer - . A
(A) Ifdatain Statement I alone is sufficient 31 The preprocessors in C are defined
1o answer the question, o o character.
(B) If data in both the statements | & : Tyl
together are necessary to answer the C & fi-SRre ﬁ————_ & ftf
question. fomar s &
(C) If data in both the statements I & |j # *
together are not sufficient to answer the (A ‘ 3B
que’stio'n. ‘ _ © $, (D) /
o tlg :?lt;égfsiﬁge:lnueer;tti{)ione - (E)  Question not attempted / argafa
(E)  Question not attempted ] -
STTH! I b Y9 i Gﬂ%«‘?%ﬁm@gﬁ? I gﬁ'{ﬁg (@ Unscramble the letters in the words giv
Eﬁlﬂ'q‘a;' %ﬂﬁa’_@w m%u; 87 below and find the oqq one out.
i T et R % o ) s @
U ST % I X A1 w0 1 @ 1 gy QEWG?F{WQR;{;[Q@WW%
?ﬁ?ﬁ ] NPE, LINCEp, RERASE, KOBO, LALB
L ot & w30 A ¥y @ RERASE )" T arn
II. &amm @l ST T ﬁjﬁ &l (®) NPE (D) LINCEP

) . Question Not attempted / argafid #

ST % forg vt 3
(B) aft 597 @ wo¢ 23 & forq @ [ o p | 33 (111111000101101001) = )i6
v A1 H far srer aify amavas ¥ Chodse ¢ e SENI
(C)  af¥ T 1 3 11 v  foar =, gy gy - 1he correct optigy -
- T & fau gaig w8 & ¥y el i
(D) 3 et &at | ar s1er wet o werg 23 3 A4) 25, 59  B) 3F1s8
fer qafe &) Q GiF1g D) 2E158
(E) omgafa e (E) : q¥
| Question Not attempted / argand
23INAS-1]1 O Page 6 or 35
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When a user initiates multiple process to

the computer then the computer follows |

FIFO method. The expansion of FIFO is
(A) First In First Out

(B) ' Figure In Figure Out

(©) Flash In Flash Out

(D) Formula In Formula Out

(E)  Question not attempted

T Th IR el § 9 Whad s
B & @ degex_FIFO & AU &l &
FIFO &1 fiwga = ¥ -

(A) w8 39 w8 amee

(B) 5 3 fpmr omee

(C) =AY 37 Wy e

(D) wrfer 37 wrfen awe

(B) orgafa ws '

On March 17, 2023 Chief Minister of
Rajasthan announced the creation of
19 new Districts and 3 new Divisions. Which
of the following is not a new Division?
(A) Dungarpur (B) Banswara

(C) Pah . (D) Sikar

(E) Question not attempted

17 =, 2023 &Y, (Y™ & JEHA A,
19 fael ofit = 7T @St & a7 @ G B

Preffa ¥ ¥ HF &1 T @S T ¥ ?
(A) Fmge (B) it
(C) T (D) AT
*(E) gaia 997

Out of the following topologies which is the
least secured and reliable?

(A) Star (B) Tree

(C) Bus (D) Mesh

(E) Question not attempted

Prer dRerfy e (Srdeiteh) § @ wad
g faargeig &7

(A) ®’R (B) #
(C), g9 (D) =a:
(E) i ued

NAS-11] O

37 .
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- (C) Ravi

Web based IDE’s are used tO, de:\felbp .
interactive websites. __isan example
of web based IDE.

(A) Ruby

(B) Python

(C) HTML

(D) Microsoft Visual Studio Code

(E) Question not attempted

3 o IDE &1 Wi qet Femered Jaae
P Rafta &y % frg Rear s ¥

d9 smnita IDE &7 U@, SaE ¢

(Ay =z

(B) uEa™

(C) HTML

(D) wEmETR faegsr @%‘Eﬁ ®Is

(E) ergaia wed

Ravi and Kunal are good in Hockey and
Volleyball. Sachin and Ravi are good in
Hockey and Baseball. Gaurav and Kunal are
good in Cricket and Volleyball. Sachin,
Gaurav and Mohan are good in Football and
Baseball.

Who is good in Baseball, Cricket, Volleyball
and Football?
(A) Kunal (B) Gaurav

(D) Sachin

(E) Question not attempted

W 3R P BTt SR areliaTe & ored ¥ wiy
8T T gl ST dwea F ored ¥) g ofg
g fpwe ol At § ared ¥ afm, Wiy
o witew Feat oK dweta ¥ o ¥
dudid, feke, T ok peata §F w

aremr &7

(A) P (B)
(C) < (D) whm

(E) orgafa ws+ -

: [ Contd...
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A *
Soham | created a word document on the

topic (G2(), He has written text matter, images
and 4 table containing, the list of countries
and the dignitaries who visited India during
G20 Summit, 11ig friend tells him about a
term of computer ‘which is penerally used
by the printers, The term js WYSIWYG. The
full form of it is

—

(A)  What You See is what you Get

B)  What yoy Simplify is what you
Cnerate !

(€C)  What you Send is what you Generate

(D) What yoy Set-is what you Get
(E) " Question not zﬁtcmptcd

W%Gzoﬁ‘mw STRHe ST
Eﬂﬁam,ﬁaﬁm_m&trhﬁmﬂi(}zoﬂiﬂm

m%ﬁmmﬁr-ﬁﬁﬁmﬁmaﬁm
T, S WYS]

YG ¥ 58 s @ qof
&9 ¥ .

(AL mqé‘rw?&rfq\ﬁz

B) = 7 fomrit 77 = 4 dve
©) == g & war g ame
(D) mzq@zm%nqﬁz

(E) ma?rﬁam?f:'_

Which option can replace
relation? )

7 from given

:ﬁ;‘:ﬁan&uwﬁ'wﬁmﬁmmﬂmww

AT

FAN : IDQ :: SAT : ?

(A) WDX (B) UDV
(C). VDW D) TDU

(E) Question not attempted / srafg e

y shows the data of )

The given grap! sared and quqip < Sty
we g (’f}{’{'( i Iﬁ[_‘di

five schools who

41

42

43

44

fons. Study the A’i‘aj; % nyy

. T i
Board Im:mmal s, i z :
swer the question’, _ 41
%‘ﬁmmww%ﬁ?iﬁﬁ%
3 g TR O g o
iof g & a5 it €1 7% T
o & e AT (T FHAL < 4q) * 0
o9 4 [ Appeared [ Qualifieg
2
I 3000
E 26004--Aiif==mmmm====fi
0 2000+ --|¢}---~
B L.
6 1500+
ﬁ o
é 1000:
5004
0 ::A -:B

C 0
SCHOOLS ——3
Find out the total number of students

the schools who could not qualify the}

T et X e 3 et (o) fr
(A) 4500 1 (g) 4750
©) 3750 < (D) 4250

(E) Questionffr_'i_bt attempted / gty

Find out the Rafio of the number of sty
appeared in schoo] A to school B.

ﬁA@TB%qﬁmﬁfﬂﬁwﬂwm
| 0
©) 4:3 ' (B 5:3

. (D) 3:4
(E) Questlon'n_ot attempted / S

Find out the ragjg o the percentage of s
%s;e;lérn School E and school D.

T Ryt r@ E &i¥ wgw D¥
?E')Rsmfﬁ b B ' 6:5
(C) 5.4 ED% 4:5
(E) Questionj not attempted / arga’

“‘,\"e"“gc_liercefuage of passed student’

- Scthog

Page 8 o 35

Is m;pprnxmmlely -

ey VR ¥ Rt e

(A) 650,
. B) 66%
%,()) 70% (D) 64%

Question oy attempted /

(o



S

»3INAS-1] O

By-gTa -

A child has to cross road and reach the school
Opposite to his house. The child looks on
right and left before crossing the road. On
Observing that no vehicle is coming, he
Crosses the road and r'cuchcs'school. What
action of algorithm is represented by the
child in the above situation?

(A)  Output

(B) Selection

(C) Repetition

(D) Input

(E) Question not atte_fnpted

U o1 79 1Y % Rradia e @ o & fig
HSE TN &I A1l ¥ IO WSF UR F &
99 97 $R e i it war ¥1 98 o T e
W ATET o TE e, I8 T T BT e
UET W@l ¥ e Rafy ¥ 9= % @w fAd
&4 F 5g Wbt &6 TEriiea™ & warT fear s
TP

(A)  rsege (Prfay =
© gmmRh, -
Dx Fge (arm). o
(E) ogaia w1 ©

1|

is an example of analog signal and

is an example of digital signal,

rexpectively. .

(A) Scanning, smell-]

(B) Smell, speech .0

(C) Word documenf,-_—'__speech

(D) Smell, scanning

(E) Question not attempted
qgy faee &1 oF eI ¥ an
fefirea fama &1 EmETT ¥

(A) wHdIEY, MY

(B) 74, 9mad _

(C) g% =iagde, amad

(D)~ T4, HAGIA

(E) ergaitd us

47

Page 9 of 32

. b
You are given below a question followed bY

two statements I and II. ided

You have to decide whether the data prov!

in the statement is/are sufficient to answer

the question.

Question : .

Find the surface @_rﬁLgLﬂjubjlid—

Statement :

I. The sum of the length, the breadth and
the depth of a cuboid is 20 cm-

I Diagonal of the cuboid is 5./5 cm.

Answer - )

(A) If data in statement II alone is sufficient

to answer the question.

If data in both the statements I & 11

together are necessary to answer the

question.

If data in both the statements I & II

together are not sufficient to answer

the question. |

If data in statement I alone is sufficient

to answer the question.

(E) Question not.attempted

I R T U ST TES 1T A HUF 1 &

I T g | eusr-gs 99 & B 6 9

% faan T ST wed & I 3 % fog wata ¥

a1 i ? )

U ¢ o

U UATH B JOI-SBd fba=T &R ?

%Y :

L o™ o @, 9o ek SO @ 9
20 &AL 10

L o o et 5.5 A ¥
T -

(B)

©)

(D)

5

(A) uﬁmwllﬂ'ﬁmwmmﬁwwm
T 4 & fow waie ¥

(B), 4 997 &1 I [ F e wer |

- ﬁﬁf&mwmmﬁmswagfu

(©) uﬁmmlaﬁtua‘-ﬁﬁrﬁmm,mm
T A F e vate @ 3,

(D) e 3H HUT | B ST worp <y
& forg qafe ) b

(E) '

arafta we -

[ Contq__



. ; = 750, the averagpe

Myopia is another name for which defect? | 50 lf' 1]5: + 155 ¢ average Ofq,

(A) Short - Sightedness will be - s

(B)  Colour - Blindness afz 150 + 156 = 750, @ a s b

(C)  Haemophilia BT

(D) Long - Sightedness (A) 45 B~ 25

(E)  Question not attempted (©) 15 (D) 30

AR, R @ e a7 (E)  Question not attempted / oy,

(A) Pz - gfe 4y

(B)  aferay 51 Identify the diagram al?d write the t

(C) m conversion the system is performin,

(D)

(E)  smafa wew

49 Representation of data in a graphical manner
IS an important feature of Excel. Identify it.
Also give the name of the component
depicted below -

)~
‘1'2 N —> [Converter | __, 0100
10
ol ﬂ H — (A) Digital to Digital
"y B C B} Analog to Digital
(C) Analog to Analog
(A) Image, Column (D) Digital to Analog
(B)  Graph, Bar (E)  Question not attempted
@r?"aph’g"l”"m feret %t vear qun gy 5 i fowm T
(D) Image, Bar & 7 i .
(E) Question not attempted el LRCE
foreit siiw @t g Frewor T Excel @1 geg

o1 21 38 vea™ adr fux § 9 Ramw a5y
g wm o gia fean wmar &7

I
I
I
]
I
[}
I
1
]

o TRER
) RERN
10 - ﬂ
o H B [:I —_— yiads ‘-—a 01001
A 1
(A) faz, w4 (A) fefrea @ ffirea
(B) u%, 9= (B) orqew @ fefirea
(C) urs, w6 (C) o @ orgey
(D) fum, @e (D) fefirea A orged
(E) orgafta usd (E)  srgafta wet
23INAS-1] O Page 10 of 35 [ Cont




S2

53

Write in ascending order
(.01)3, 0.0011, .0012, -1.0, 0.15
Which number comes in the last?

%Wéﬂwaﬂa?rewﬁﬁwﬁﬁ%memﬁm
Hifre 5 @ @ dear ofd ¥ AW ?

(.01)3, 0.0011, .0012. 1.0, 0.15
(A) .0012 B) 0.15
(C) -1.0. (D) (.01)3

(E) Queslmn not attempted / @t a9

IPSEC, IP Encapsulation and Tunneling are

the technologies used in only.
(A) TCP (B) VPN
(C) Internet (D) Intranet

(E) Question not attempted
IPSEC, IP wftreiaor aen i T&l qaid

%, e wam H g ¥

(A) TCP (B) VPN

(©)r T (D) e

(E) ogaia e

Netbeans have visual components to drag
and drop front end componenls is

an example of it.

(A) Plug ins (B) Radio buttons

(C) Keypad (D) Debugger

(E) Question not attempted

8 ¥ g99 °9<H B & Wl EKC]
TZa B s B B BE BT 8|

2@ Uh SaTEL 2| -

(A) T3 (B) sgi—=eA

(C) w-%s (D) =T

(E) e we =

An optical mouse has a light cmlttmg, device
known as

(A) Triode (B) Diode
(C) Bulb (D) Switch
(E) Question not attempted..
e iz AT H G S wT A
4w & foa el Wl #
(A) zmE, ) =
(C) @™ (D), @
(E) orgafta wet |
23INAS-1]1 O
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data

where llu, data is j:,(..nt.,l'dtbd from the
itsell, such as logical database designs-
(A) Non-operational (B) Meta

(C) None of these (D) ()Ptr‘lt‘onal

(E uestion not attempted

m% a-:‘) o s 7 & T
mgﬁéaﬁﬁ%ﬁm%@f@raﬁﬁﬁww'
(A) orafmaTHS (B), =

© T A @ A (D) A
(E) orgaia wed
Find the missing figure in the diagram given

below.

frer & @ orema faw @ B

?

(E) Quest:on not attempted / A ued

In a Word document, Simrat has to display
the list of online sites which can further be
used by a student for preparing a research
paper on, “The Effect of Social Media on
the behaviour. of Students.” Which feature
of word is the best suitable to prepare the
list? ;
(A) Bullets (B) - Numbering
(C) Graph (D) - Linking
(E) Question not attempted
s o€ s ¥, Rt @ eivesT e 9y
g 3 st @O &, B o ¥ o g
“grET & et U e W & g Ry
waﬁuwﬁmmﬁﬁ:mmm%,w
T i a5 g ) e < R
gugad &7

By g B siafen
(C) < (D), R
(B) ergafa wea

[ Contd...




59

How many layers are there in OSI Model?

: 62 An unauthorised real time interception
OSI wizd ¥ fha dwat &7 monitoring of private communicatio
between two entities over a network |
(‘ﬁ)‘ 7 (B) 4 called— ]
© 6 (D) 3 (A) Snooping
. B) Phishing
(E) Question not attempted / St wed EC; Vilslslsmb
(D) Eavesdropping
— : = (E) Question not attempted
60 If TELLI’I-K')NE 1S coded as T Yead yx @ wes % 4 frel U e
‘FOPIQFMFU” in a certain code. How is g arafys @99 SEdeT a1 P ¢
*MYSORE” written in that code? .
HET T T -
aft ‘TELEPHONE’ # frd gz—wmar & (A) am-wiw (@)
‘FOPIQFMFU’ ferar sram #1 o @&t gpe—wran (B) ffirm
% ‘MYSORE’ & &% frar s ? Q)
(D) = gY g (3erRgs i)
(A)~ FSPTZN (B) FSPZTN- (E) e ws
(C) NFSPZT (D) NZTPSF
. 63 Which is the first ever arch dam in Indi
(E) Question not attempted / SIFAfd 5 (&} -Bligkra Nenigal Dait
(B) Mahabali Dam
61  Anuj is trying to transfer money to an agency (g) Iﬁuﬁtl (?Em
from his bank. On trying multiple times, (D) T U 2
i he bank failed. Because of (5] BB Ao
s ; i : WG I UeEl G 1Y B a1 ?
the financial transactions, certain cookies X ] 2l
helps to terminate the session where there is _ (A) M S
a time-out. These cookies are known as (B) ‘Ei[j“a
cookies. Eg) T Wﬁ.
. gl(lgig 9y
(A) Session (B) Authentication (1?31 s W
(C) e-banking (D) e-commerce ;
(E) Question not attempted 64 Solid State. Memory Sticks are comn}]m;
. _ . used in our day to day life. They are aval a
et o A W Tl e ﬁ‘@( RETII 6T in various storage sizes. Identify the &Vt
721 %1 a-ar Y4 % 91 4% B FAHE (A) Compact Drive(B) Pen Drives
w2 A @ &1 R @ % sR, g (C) Printer (D) Cache
A T H G B A HGE B © o6 (E) Question not attempted Fo-
arg-dm fiivaa @-@ ¥ A g aﬂﬁuﬁfﬂﬂ‘(ﬂﬁ%mmﬂﬁim
FEan &@ ¥ qe R g A ST
(A) B (@) (B) s z‘i_‘? J bl “;j‘ E'Ea(' ]?)/“ o T
(C) {-fm (D) & O i O
(E) orara ue (E)  srgafia wew
23INAS-1] O Page 12 0f32 [



- 65

67

68

\9

e

93INAS-1] O

i ol

Which of the expression correctly defines

the statement?

R G ot R e @1 ARG BT &2
Check whether the values of 3 variables
agel, age2 and age3 arc equal to cach other.
St &Y 5 3 O agel. age2 AT age3 & A

% gEl & quat ¥l

(A) agel == age2 and age2 == age3
(B) agel ! =age2!~= age3

(C) agel = age2 and age2 = age3

(D), agel = age2 = age3

(E) Question not attempted / araRa weT

is mechanism by which one class
acquires the properties - data fields and
methods of another class.
(A) Encapsulation (Bf Inheritance
(C) Polymorphism (D) Class
(E) Question not attempted
_ uw yiea ¥ fras a0 o 9 gal
it @ fygward - s & o fafa @ wew

CIGIR
(A) €y (B) sraifies
(D) <t (ame)

(E) orgaia 9ed

Pen drive is one of the most popularly used
device and can be used in port.

U9 3139 UF I A 45 ¥ R qre

(B) UBS
(D) SSD

(E) Question not attempted / sgafa 9e

Madhu cycled 5 km south wards, turned right
and cycled 6 km and then turned right, cycled
5 km. Again turned right and cycled 7 km.
How far is she from the starting point?

(A) 1km (B) 11 km~"
(C) 13 km (D) 23 km
(E) Question not attempted

7y 5 fawnder afaw @ ot i@ gend @

ST 5T 1ot 27 geat 6 fedniet @ &, ofit
ftHT oo =7 geaht 5 fememet T &1 ae i
AU 218 qeart 7 fheiiiet oIrdl &1 oTd 98 o
speaTdl fag & et 4T %7

(A) 1 fwaniet 11 feseieT
(C) 13 fwarier (D) 23 fweniet

(E) srgafta ue

69

70

71

Page 13 of 32

, ; 0
Convert the fractional number 0.1011
decimal. Choose the correct answer-

f=reras dear 0.1011 @Y grafies ST 3 el

e ITT g
(A) 0.6875 (B) 0.6900
(C) 6900 (D) 6875

(E) Question not attempted !'Gﬂﬁﬁﬁ a4

Which amongst the following is qualitative

data?

(A) Gender

(B) Eye color

(C) Age groups

(D) Size of household

(E) Question not attempted

T ¥ FF Y T gafd oiids €7
(A) R -
(B), sitdi @ T

(C) v o

(D) B & HEHR

(E) orgaid wsd

Can we create an mp4 file of a PowerPoint
presentation?

(A) We can create only mp3 file.
(B) We can create only animation.
(C) We can create an mp4 file.
(D) We can create only slides.

(E)
T T UETEISE WEIH B mpd Brw gy
Hd 7

(A) ®7 &ad mp3 BIEE q wEy ¥

(B) & Fad AT (QPMem) amr ey
(C) & mp4 BEA & §aHa )

(D) o A WES 9 way ¥

() arjaf@ wew

Question not attempted

[ Contd...



Dev is working on an Excel Sheet. He eny,
a formula as shown in the figure given belg 76 Op

72 While transmission of data from a sender to
receiver using Modem on Internet, the data

(A
is firstconverted o from _
(A Analog. Digital 125
(B) Digital. Analog B
(C) Digital. Digital e
(D)  Analog. Analog
(1) Question not attempted (1
Ygs A WA B IR B WA LT T (
e ¥ e & R s yana a
¥ ¥ vafa e ¥) <
argey, fefrea He copies the same formula in rest gf 1
N T, STEEN (Nine) rows. What will be the output?

(C) Tefwew, fefvew

(D) orgEd, FgEd
(E) et sraﬂ_‘l

(A) Excel will display different outpu
each formula.

(B) Formula is wrong.

(C) Error will be displayed.

(D) Excel will display the same outpu

73 Relational operators are accessed by ALU

which gives maximum of possible cach formula in each row.

outputs. (E) Question not attempted 77
wefera wfar @1 ALU a0 siftrga fear e & ¥a Excel $irz 9% %1 & ¥ 1 7% fram )
i1 srferas _ dwa el yEe w R ﬂrw*&ga%m%—

AL 1 Co®) 2

<€ 3 o Oy B .

(E) Question not attempted / STAd v

74  Which MLA was given the best MLA of the

year 2023 award by the Rajasthan Assembly
on 20 March, 20237
(A) Ameen Khan
(B) Anita Bhadel

T T T\ handra
(D) Ganesh Ghoghru
(F) Question not attempted
20 g1 2023 %1, g faums &6, Toram fam
a4l zra, gdrad faurad & gt fEar aa e

—

T T g A 9 () e F

B &) IMITYE &qy Byl ?

(A)  Excel s g 3 firg -1 57
T

(A). a1 @A
‘i{)Aw’nmw%a (B)J-“ﬁ‘nﬂ%w

(C)4-3fz (Error) fras &

(“).. Excel a+ fral ® mﬁ?
I aMIeye fa@rq-m

() srafta we

(C) @aner o
(D) g maE
() orpafa ugd

S-1
23INA ] €D Page 14 of 32 [CO'




76

4

78

23INAS-1] O

(F=a) o< fpa ?
(A) 109 ' (B) 105
S 107 (D) 112

Operating system allows the file system to -
(A) Create, Access, Maintain a directory
and protection of file from
unauthorised access.

Change the extension of the file.
Transferring files from one computer

(B)

©)
to another.

(D) Rearrange the characters of the files.

(E) Question not attempted

sl s, wiga fiew @ fead fae siftiga

HIA & -

3% srtadt a1 Frtor, aifmes &t wram @
TUT B3 B SFfaHa AT & F9mHT|

(B) WIEH & TS H GEETI |

(C) wEw B Uw FET A qE T A
AT | ,

(D) WIEE & TOT & YR 9T G: HH & 1|

(E) &gaf@ usw

How many total medals, India won'in the
Asian Games - 2023?
ThiEE @@ — 2023 ¥ UG 3 $W fhaq UEh

(E) Question not attempted / Sgafid e
During May 2017, a very popular malware
infected almost 2 lakh computers around the
world. It demanded payments in Bitcoin
crypto currency. It made its victims cry. It is
known as 4
(A) Baby Cry (B) Crypto Cry

(C) Node Cry (D) Wanna Cry

(E) Question not attempted

wE 2017 % Zrg, U@ Aed aiw i Eauy ¥
fasa & wmpy 2 @ dgedl B dmid fean g
fere—aarés faey artal ® STaTA {4 gaa
Tl ) i G g8 @ W g

(A)—41 ot B) fw=r wrd
(C) e wmr (D) @ wrd

80

81

(E) erafa g

Page 15 of 32

4C) A

@ A, B, C,D and E are seated around a circular

table facing centre.

D is between A and E, C is between B and
£ in clockwise direction. Who is on
immediate left of B?

A, B, C, D et E it us wiveraTt &1 9%, 9%
B T HE Hh, e e 48 F

D, A ol E % dra & &e1 %, C, B oft E % 419
¥ wdt B gg 1 foen F A1 &1 @ B % Freezad
qrEdt oIt dar 272
(A) D (B) E
(D) C
(E) Question not attempted / Srafta 7

is a complete software of a third

- party that is installed on the host computer

and can be used by the browser for multiple
functionalities.
(A) Add on (B) Plug-in
(C) Extension (D) Firewall
(E) Question not attempted

o ¥ T w e aeea ¥ R
TR g N STl WAl & a9l 3§ WSE] &N
Sy e wmar @ aife fatv= Searserdl &
go= fepar =1 w6 |

(A) waEs (B) o
(C) ummesi (D) waRars

(E) orgaia 997

Four sets of numbers have been given below.
Out of which, three are alike in some manner
while fourth is different. Choose the odd
one.

A W N GEASH F AN wyeay ¥ frny ¥ dm
aeel # P wHA E, wrafn dher wpeaa
e o ¥ e Wy @ g @t

w (5.9.99) (B) (3,9, 90)
(C) (7,8, 113) (D) (6, 8, 100)
(£)  Question not attempted / srgafta wsT

[ Contd...




User defined functions in C are written using
the keyword __

S s
a9 @ 7eg § foran s &)

(A) Define B) def.

(C) Def (D) define

(E) Question not attempted / T 99T

82

|
is a standard machine language into
which Java source is compiled.

(A) Object Oriented
(B) Bytecode
(C) Assémbly
(D)
(E)

83

86

Interpreter
Quéétion not attempted
| de e e W ¥ e s |
I Gt far T ¥
(A) e sifd=s (fra smenfa) v
(B). e @
(C) waEe &
(D) 3= (gt -
(B) orgafa wew

fact (N)
if (N equals 0)
Return 1
else -
Return N * fact (N - 1)

The above algorithm is a specific example
of

(A) Sorting ~ (B) Recursion
(C) Displacement (D) Selection

(E) Question not attempted
?ﬂmwﬁftm &1 Uh fafie Tere
| ™
(A) wiem B) v
(©) framw (D) gm
. (B) orgai@ us
23INAS-1] O
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\55/ Without an IDE, a developer has to select

deploy, integrate and manage all of them The total teachers inas
wise distribution has b
chart. Study the pie-ch
questions that follow fi
rma ww 7 7 1 6,000, sreary
sy T ugar o o frarn

(A) Graphically  (B) Separately
(C) None of these (D) Virtually
(E) Question not attempted
(D P ft e 1 ¥, 3

R B a3 T

Fe gedl B 98 it gyt & gaw (.
(o T s & (B) Gi'fﬂ ol 3
(©) T 4 @ @ (D) ST wW A B
(E) ariﬁﬁﬁ LAl Teach
Following steps are followed,for a progra
written in a high level language by, Dt
‘i(.)mpt"llfzz: program is complled into objy DskictD
program.

2. Source program is read and loaded j

memory. { \-
3. Compiler reads the program loaded;

memory. 87

How many teac
move to district
have the same n

4.  Machine language routines for readi
and writing data. - <"
5.  Compiler may be removed fra

= = > e sreTaes fin
s S R, ‘f SR % 7 Rt %
Fhaame- o A ¥ el
1. mmmm%mﬁaﬂmi (C) 840
2. < v @ AE F gt e o (E) Questi
qUT U@ W@ B e
3. duem, A0 F fRug ‘;hqrq % et
4, gﬁymm%mﬁﬁﬁ 88  Thedifference o
_ T ofdistrict C and
f:.h IS B A { 3T ﬁmrﬂml of distret D will
oose the answer with correct sequen®
steps from th SRR
€ options given.below: STETER
A R T Rt ¥ & wrom g e -
bt : il ReY % arem
‘U() Sa 4, 3, 2, 1 (A) 720
B) 3,2 1,4 5 : ©) 660
() 4,519 337 i
ED) 23 s (E) Question
E) )

Question not altempted.l’ al':f“ﬂa 23INAS-1] O



The total teachers in a state are 6000. Their district-

wise distribution has been shown in the given pie--

chart. Study the pie-chart carefully and answer the
questions that follow from (Q- Nos. 87 -90).

TR F Pt 6,000, 7T €137 TH 7 Frerrra fravor
e qrsere s 4 fearar T &1 MEEE @l GIAEMHIgEE
98 ofiT get & gue &1 (vea w87 - 90)

Percentage Wise Distribution of
Teachers in 6 Districts

87 How many teachers from district C should

move to district F so that both the districts
have the same number of teachers?

Tt sreamoes fye C & fyet F & %ot wind, forerdt
fp <Y Rt % erenTost @Y T SXET & g ?
(A) 660 . (B) 960

(C) 840 (D) 1020

(E) Question not attempted / 3Tgaia 997

The difference of ﬁkﬁce the number of teachers
of district C and thrice the number of teachers
of distrct D will be?

afz R C 3 areamua) @) e &t g o Red
D & arearyat ot T Hi d T AT e s @t

88

=) ot & enzrrcm;? P AT BT 3T BT P
A) 720 <+ (B) 840
(C) 660 " (D) 960

(E) Question not attempted / T3 g

23INAS-1]1 O
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89  Ratio of the number of teachers in disctrict €

to the number of teachers in district B will
be-

Roret C sfre Rt B 3 sreamaast 2t st 1 ST
FEM?

(A) 6:4 B) 7:4

© 4:7 - (D) 5:4

(E) Question not attempted / ST 937

90 Ratio of the number of teachers in district E
and D to the number of teachers in district B,
A and F will be -

Rt E oirc D 3 sreamat it s ofre Rrst B, A

3 F & areamaa &) e ¥ orgurd e

@A) 2:3 N B) 3:2

C) 3:4 () 1731

(E) Questi?ﬁ not attempted / ST 997
<

| \J
91 Binary file. tontains machine readable
characters i and format.

(A)
(B)

© A]phabets and Special characters
® 10 7

(E) Question not attempted

fﬁmﬂr&m—rsaﬂfwﬁﬂﬁmq%ﬁﬁmﬁwehm
3 o B B

e, e

(B) faftre Fud qa wem
() omr qul faftre e
©r Lo o

(BE) rgaid-yeT

N

Alphdl:;cits and Numbers

Spemal characters and Numbers

(A)

[ Contd...




_ e

statement
of C program, ——

3 l'nm?mle?l(ij:tely exits a loop, skipping the rest
:)f the body of the loop. .
C dum & q9 | o, 7@ ¥ g«
Prepifta BlaT & q&T 9 T B B T
(A) else (B) continue

O break (D) if
(E) Question not attempted / ARG W9
93 In the diagram given below :
®
indicates process.
(A) Input (B) Repetetion
(C) Process D) Output
(E) Question not aﬂemptc d
fedr o far
94
: t 'Z Mq 1]
O tizpg ~> 1ISMp
(E)  Questip D) tizng
N not g Cmpted / g
23INAS-1] O -
Page 13

In MS-DOS, when poy, . .
!

does the following taskg
[ Rest Of OS iS pullcd

o9

97

2. Small portion of 08 n
loader h
3.  Stores it in main Mem,
4. Loads it into the Maip )
5 Self - Test *

MS-DOSﬁﬁﬁﬁﬁfﬁﬁzﬁyﬁmm
% at BIOS 1 &t &ty 3 _
1. dw @l OS & W Ry, 2

2 OS & BT 91 F iy ,
3 T g A ¥ wfy gy
4. 3 g WO w0y
5,7 @ wita
Choose the answer with correct s
tasks from the options given bel;

e g g et § @ e B w
@ TG HIfT:

(A) 2,5,3,4,1

B 5,241 5"

‘\(5{233,5’ 1’4

(D) 5’ 4’ 2’ 35 1

(E)  Question not attempted /&
o

99

9 ¢ < |
K Earth 1S called “Water’. < Watef

“Sky’. ‘Sky” is called ‘Land’ and
called ‘Roofr. Then where would*
& Land (B) Water
©  Roof (D) Sk
(E) Question not attempted
TR e gy gy T g, A
T B STl w5y g o @
BET YT o 7
B) T -

= 23IN4



97

98

99

23INAS-1] O

The 2021 census of India is its 16™ census.
In which year did the first census in India
take place?

2021 %Y FETOET XA B Eedl ST §)
& 9 § wrea @) gee SO g A
(A) 1950 . (B) 1856

(C) 1962 (D 1872

(E) Question not attempted / SRR ¥s7

The kcyBoard of an operating
system uses a fixed QWERTY key layout.
This can be exploited by keylogger but are
still safe than norr';n:al keyboard hardware.
(A) Online virtual (B) Software

(C) Semi-soft = (D) On screen

(E) Question not attempted

fepdly araifeT fem o ‘o 9’ Ffvea
QWERTY fé=arq @1 wai &tar &1 38 4 af &
AR ERT JHAE YgaE o G 8, uig qe
TIET ‘BN G’ FTSIGT Y goran o atferes gt
¥ ol -
(A) SffemsT SHE (B)  @iweadT
(©) wh-—wwe -~ (D) 3 ThIA
(E) orgaid 9ed -

Which option can replace “? : ?° from given

relation?
Temperature : Thcmometer (s PRR

(A) Length : Scale

(B) Bank : Money

(C) Height : Barometer

(D) Water : Milk

(E) Question not attempted

3 73 geq § ugHda® et & WA T
ST ? 51 &1

LA 1 11 S A

(A) wwaré : AE o

(B) ¥ : ywar -

(©) \Sé awﬂ

(D) W gE ~

(E) orgafed weT

100 Given below is a statement follow

Page 19 of 32

ed by tWO

t
courses of action I and II. Assume statemen

to be true and decide which of the suggeste

courses of action should follow -

Statement : .

One of the students in school is behaving

very rudely with other students, even

physically hurting them.

Courses of action :

I.  Student should be expelled from the
school.

II. Counsellor in school can have sessions
with that student to understand and
change his behaviour.

Give answer -

(A) IfII course of action is to be followed.

(B) IfIand II both courses of action are t0
be followed. _

(C) If none of the courses of action is to
be followed.

(D) IfI course of action is to be followed.

(E) Question not attempted

A 7w @ fean man ¥ Rrad wvearq & Beard

[ o 11 & 78 &) %o &l g7 7 o Fofa &

F

feremera @1 q@ e, @ R % an aga

FHA TAE HT & & ST 71 T ARGz Y

&7 @ ) -

FHAE! !

L e o e & Premit @ o e

1. frendt &, @0 SEER & 99, 9¥ =8
ity aife a8 frendt & Tww 9% oix
e e ¥ R

Iat g -

Ay Tt w11 @1 we S
(B) af wrfarél 1 3 11 Q4% &1 wrem e 3
(C) ufy frdy +ft wrdardl &1 T € e &
(D) afX wEET [ & e S ¥

(B) orgaf wed

[ Contd...



101

102

103

The cost of 4 shirts and 2 pants is ¥ 3.000.
Find the cost of 6 shirts and 3 pants (in 3)?
afx 4w i 2 ¥z @ @wa < 3,000 B, A
6 T ot 3 Y2 @ P (T F) @ a e
(A) 5,500 (BY” 4.500

(C) 4,200 (D) 3,800

(E) Question not attempted / @ 947

_Public class Person
String name
String Telephone
String email
// class methods
initialise( )
// code for initialise
Public Print( )
Public Name Getname( )
return Name
Public String Getemail( )
: return email
Public String Gettelephone( )
return Telephone
What will be access specifier of the field of
the above class?
(A) Private (B) Public-private
(C) None of these (D) Public
(E) Question not attempted
SUUGT FAE B &4 B FARE SFE S yam
HOT?
a) frr X (B) W ardiia—frsht
C) FH A =3 T (D) &
(E) srgafa wsT

is an example of impact printers.
Inkjet printer
Deskjet printer
Dot matrix printer
Laser printer
Question not attempted

(A)
(B)
©)
(D)
(E)

104

105

vision method by 2 is Useq |

Repeated di
convert —
3 pecimal
(B)
©
D)
(E)
2§ SRER |
¥ qay 3 forg fear S (]
(A) Tenard, T
(B) TeMEE, AL
() framard, fremard
Dy~ werd, framard

(E) ogafa wed

to

Binary-
Decimal. Decimal
Binary: Binary
Decimal, Binary

Question not attempted

e a1 ST 3

—_—

is a network security sys
designed to protect a trusted private netw
from an untrusted outside network to w
it is connected.

(A)  Cookies
(C) ssL

(B) Firewall
(D) Bridge
() Question not attempted

S,

TTadh fa
Pl e F& oy &

_ F92 Rt @1 7% saw & . SfvaTd ey ek
" S T
< . (A
Tt e o ®
(E) & Iﬂitﬂ EEE V)—‘ SSL (D) 'faﬁ-[ -
| (E)
23INAS-1]1 O Page 20 of 3, SIS gy
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106 Sumati has to calculate the average of a range

of cells of a spread sheet. She has to display
the average of each row and sum of each
column. She also has to display the average
of all the rows and columns. Consul_er the
range of cells from A1 to H100. Identlfy_ the
correct answer which can be used by her.
(A) for rows = Average (Al : HI) }
for columns = Sum (A1 : A100)
Copy to all rows and column

B for rows = Sum (Al : HI)
( ) for columns = Average (Al : H100)

Copy to all rows and column
for rows = Average (Al : A100)
for columns = Average (Al : HI)

© |

Copy to all rows and column and
use it for the entire sheet.

for rows = Average (Al ; A100)
(D) for columns = Sum (Al : H1)
for all rows & columns = average (Al : H100)

Copy to all rows and column

(E) Question not attempted
T @ T@ Ry W o § Rife dw @ e
T ¥1 TH ydS R @1 slga adr a
W %1 9 @ #1389 Al § H100 93 R
H{| SHS &I WgH TEl IAX EEm | '

[ ifm & firg = offga (A1 : HI

(A) _ma:farqw‘m(m:moo;]

it dfiral wd wist F copy &

(B) [ dfr & frg =41 (A1 : H1)
| ww & forg = offtwa (A1 : H100) |
Tt dfrdl ud wist § copy wTm

c it % frg = sfrwa (A1 : A100)
©) | ©w & fira = offga (A1 : H1) L

oY dfrdt T Wt A copy &
T Wl 9fre ST oo s
dfw % firg = offwa (A1 : A100)
(D) | wm frg =g (A1 : HI) "
Wit il sfrewid & frg = offem (A1 : H100)
w dferal ol wil A copy @
(BE) orgafa gew
23INAS-1] O
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107 Given below is a statement followed by tWO

assumptions I and II. You have to consider

the statement and decide which of the

assumptions is implicit from the statement-

Statement :

‘BURBURRY” brand purses are for the rich.

Assumption :

L. Many people like to be labelled rich.

II.  One is not rich if he/she does not have
the purse of that brand.

Give answer - '

(A) If only assumption II is implicit.
(B) If neither of the assumptions I or Il is
implicit.
(C) If both the assumptions I and II are
implicit.
(D) If only assumption I is implicit.
(E) Question not attempted
I B B R mar & frad @w & aremd
I3l I & 7 %) oy ®ew 9X fa &¢m &
IR Profg & & fF @9 @ grom wuw A
i Tl
FA :
‘BURBURRY’ #ifs & T &+t @il & fg #1
qrom '
N i L L S G G
. afk Bl &% o 59 ot & od T o
o e o T
oY ARt —
(A) &ga =reem 11 719 )
B) & gron I3k 7 & 1 57 %)
(C) i aromd I qar Il 717 #)
Fae yreen [ 79 )

% STgia e

108 Justice Augustine George Masih has become

the Chief Justice of Rajasthan
High Court.
¥ e <A ' ¥

(A) 40 Iy 4l
(C) 42 (D) 43

(E) Question not attempted / TR 99
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) the following is not

109 _ signals are discrete and generated 112 Wltli?o??f x l%‘“ﬂ
by digital modulations. OPL.r:g il arftedd TAEE e ¥y
(A) Digital (B) Noise AN (B) OR
(C) Bandwidth (P Analog (2) NOT ' JX{) Check
(E) Question not attempted 5

E) Question not _altempted / ey
————Wamﬁﬁ%amaﬁﬁ?ﬁﬂﬁ &) " )
gitreaer & wra frar s #)

Arrange the following words in alphg,
& e (B) O der, Which word will come in the iy,
(C) dsfum RN =S L a3 A ™ gredl 1 T IR 23

Fo g B & Qi HET § ammum ?
ANUJ, ANKIT, ASHISH, BABY, B

110 Four persons meet at a party. Each of them (A) ASHISHA :_. (B) BABY
shakes hands with every other person. How (©) BUSY ¥ _7(D) ANKIT
many hand shakes are in total? (E) Question not attempted / 3w,
A e ww e U get & fred ¥ oft d
of bk e aX ol @ Ty B 199 | 114 Development tools like text editors, g
Rpel are Ene e T e libraries, compilers and testing platfom
(A) 12 By 6 available in a framework of I
(C) 5 (D) 10 (A) Different (B) Single
(E) Question not attempted / STgaiRa ¥ (C) None of these.(D) Multiple

st | (E) Question not attempted

111 I am a memory device. I am composed of

R SUETOT Y T TR, A8 T
FurEe qul TR wew™, IDE§

transistors and capacitors. I am able to access
the data fast. ' Who am 1?

s ¥ A e B .
(A) Static RAM (A) Fafr= (B
(B) Dynamic RAM ©) T ¥ =% T8 (D) =&«
(C) Static ROM (E) . said wed

(D) Dynamic ' ROM
(E) Question not attempted
# s FETQ A B gA Zifret Td Rl g
e T B 1A ST & ST B T B Hhal
F1H wF £7

NeYe wWitws RAM
®) i RAM v
(C) dfw ROM

1 ) ‘ 4
¥ If + means X, X means —, + meaﬂs””‘\

means -+, then which of the fo\lo\\i@g"
the result of :

225 5 25+4x10—5x%20 (
WL+ B %, X Hy - a»ﬁ+(ﬁl’("ﬁ%.
W @AY e Ty wew § {
225 £ 25+ 4 x 10— 5 x 20 T

(D) fw ROM (A) -10 By 303
(E) argat 9e ©) 250 (D) 1700
5 & (E) " Question not attempted /
23 INAS'I ] 1’33@ 22 of "3 '
ors 2150 ‘\-—':\g_ po. (¥
ot Q)\&ﬁ){"\.-—-:m - L

_d



116 Read the algorithm and identify the type of
sorting used in it.

SetA=0
WHILE
find the smallet unsorted item

Swap first unsorted item with the smallest

(not sorted yet)

Set Ato A+ 1
(A) Insertion (B) Selection
(C) Bubble (D) Binary

(E) Question not attempted

T &1 98 qar g 6 3 e g @
BTR & SYANT g ¥ 7

TA=0

WHILE (et T Berd T §F)
998 BT fmr e aren mwaﬁt

U Bl QT AT A + 1 20 wom R s a9
3T B QY (SEwT-gge) B

(A) wiafk (B) g™
(C) gagen (D) fesmurd
Q/Gﬂﬁﬁﬁ EEL]

117 Every OS has a which permanently

resides in the main memory of the computer
to perform some of the basic functions.

(A) Kernel (B) Hardware
(C) Node (D) Centre
(E) Question not attempted

&% OS ¥ U e & ST He B g
H # R e ¥ 941 $B a5t )

118 The octal number system has a base of

TR ST Hear yafey & snere grar e !

Sor 8 (B) 16

© 4 (D) 10
(E)  Question not attempted / argared 9T

119 Ram is the father of Mala and Rakesh is the
son of Sheela. Vijay is the brother of Ram.
If Mala is the sister of Rakesh, how is Sheela

related to Vijay?

(A) Mother (B) Aunt

(C) Sister-in-law (D) Sister

(E) Question not attempted

T, A1 & frar & o whyr ofver &1 = ®)
fasra, T &1 Wi ¥ Al e, wde @ 989 3,
ar e, foo & o oy wEd B2

(A) =i (B) =
Loy iy (D) =&
(E) orgafea wed

120 Who is the first Lokayukta of Rajasthan?
(A) M.L.Joshi (B) K. S. Sidhu
(C) L D.Dua (D) D. P. Gupta

(E) Question not attempted
T &1 TEe AIBIgad B & 2

& & forg gem dn ¥ N
L&) & (B) ¥ () . T st (B) &. wa. R
© s (D) &= ©) o d.gam (D) @ q.
(E) orgaf@ wew (E) omafa wet
B B Page 23 of 32 [ Contd...



is a memo
rtual memoY ' Y manag%
i ion followed by (122 VI " here - \
121 You are given below a question followed by ' w

: hnique
two statements I and II. . tec ndary memory ig
You have to decide whether the data provided ) Only $€€OMTE v Useq
in the statement is/are sufficient to answer the J/’\ - ndary memory can be Useq
question. 3) o¢* . i
Question : ) Jﬂ main memo;y
A man standing on the bank of a river obscrves kil 16 P
that the angle subtended by a tree on the M Data lrdnbe ricted hctu,;
opposite bank is 60°, When he moves away 9 main memory and secondary Mep,
from the bank. he finds the change in angle.
Find the breadth of the river. (D) Main memory can be Useq ,
Statement : memory. ]
a

. Thechanged angle is found to be 0f 30°. secondary
II. He noticed that when he moved tion not-attempted

40 m away from the bank, tree subtends E) Ques - ,
Answzrof angle on other side of the river. T AEr T ﬂﬁrﬁ EECERC I e
(A) Ifdatain statement Il alone is sufficient (A) Yaa fadia® AT B 9G9I B M

to answer the question. 2 '
(B) If data in both the statements I & II 2l

together are necessary to answer the St .\

question. ™ B) fxias ﬁ_&% q& @ wi;
(C) If data in both the statements I & II RpaT S GhdT Bl

together are not sufficient to answer the

question. C) ST & WM ged aa1 fidms =
(D) Ifdata in statement I alone is sufficient © % =

to answer the question. drar foan STl gl
(E) Question not attempted s o
B! T T W 37 THH 918 4w [ e Il (D) ge =l i facias #d & v i

T Tq ¥ | eyt @ wa s e 6 wew N R fomar S ¥
AT T 997 dT I A 6 T wale & o w8 ? : oy
we 2 R (E) emmi@ gem'—
T 6 @1 U te d@a ¥ B g g i+
T % FE B T60° 1 B o & | ot
arEl g W T TH T e & T o9 B F o | 123

AT 7, T B dIeTE g Bt The five rings of the Olympic symbol

FYA ¢ five different colougs, They are Red.C
L e gon @ 30° 7 ¥ Yellow, Blue and—..
I1. wﬁmw%ﬁwﬁagw%?ﬁ &q (A)  Violet
ﬂm“m?ﬁ%ﬁmﬁtw 30° <1 HIvT a9 %) ~. (B) Orange
SRR ™ (C : .
(A) afz ?ﬁ'ﬁ wa ILH T sy ug @ (Ei Black - (D) Indigo
T & fom it # Question not
B 3 9w w3 % g w1 i Sers SEhgsted
o Z@qﬁmwmaﬁfmsw%l % T % S W 5 are i B
(©) 3t o 1 st 11 @i & foan vy wrer, e T, &1, ey frert it
O e S
96 wYH | &y 1T \ B .
P - ET21 Y9 &1 I 39 % SN Tl
(E) omeRaum ©) Yo
23INAS-1] O



(&

125

The smallest 6-digit number exactly divisible
by 201 is -

B oigl B wEQ B e o s o {6 201

¥ of W ¥ -
(A) 100098 L (B) 100089 -
(©)" 100299 (D) 1005004~

(E) Question not attempted / ST wed

There are certain.number of benches in a
class. If 4 studentssit on one bench then
I bench remains unoccupied. If 3 students
sit on one bench-then 23 students remain
standing in the class. Find the number of
students in the class?

TE HEl 7 PO 49 T 1Al ade A9 T 4 femedt
93, 1 §9 @l e I ¥ Al gde ¥ 91
3 foenfifat @t foomar wq ot 23 fmmel wer &
TS @ 9 ¥ wE ¥ g fenfid @ den s
£y

A T8 - (B) 104

(C) 110 (D) 48
(E) Question h(lzf_t_:-"attemptedl FTANT 997

The greatest possible length which can
measure 80 meter 64 cm and 96 meter.

(A) 960 cm < (B) 840 cm
(C) 480 cm (D) 384 cm
(E) Question not'attempted

ar i v v s 80 WX 64
3T 96 At 1 @@ & W wadr ¥

(A 960 @A . (B) 840 A,
(C) 480 & .. (D) 384 4.y,
(E) orgaf@ wew

23INAS-1] O
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Find the missing number -

ST HEAr s we -

417 (12 |18
212056156 | 2
(A) 188 (B) 342
© 472 (D) 215

(E)  Question not attempted / arafia 991

Which of the following is used while
working on Tou(;h pad?

(A) Pencil
(C) Gloves

(B) Stylus
(D) Finger
(E) Question fiot attempted

zﬂﬁsmwﬁmﬁwﬁﬂﬁéﬁmﬁrw
e s 7 _

&) W o LBy
(C) =’ ' (D) S

(B) omgaha v

Two numbers are in the ratio of 12 : 13, If
their H.C.F. is 11, then the numbers are -

(A) 121 and }6'9 (B) 132 and 143
(C) 121 and 144 (D) 144 and 169
(E)
<) degral @1 orgura_12 @ 13 ¥ afy vt wewy
gagad 11, @ dend A

Question not attempted

(A). 121 ehT 169 (B) 132 aht 143
(C) 121 3T 144 (D) 144 3l 169
(B)  argafta ued
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130 Data protection is very_essg:ntial in today’s

digital age where milliong of data‘is created
and are illegally used by some. In order to

protect data,  orangs legal rights to
creators for their original work.

(A) Copyright (B) Trademark
(C) Licensing (D) IPR

(E) Question not attempted .
ST & I A =1 gean Agg el ¥ o
U AT-BE T N wiv Rear o 1 =
B GRE @ F R

Fmtomerat &
B stfe Far 3
A sz B) 2= uh
(C) wrzafsEm (D) IPR
EX. GGafts wew

Six boys A, B, C, D, E and F were born on

the same day but in different years during a
span of six years, :

1. Ais older than C '
; B is older than both D and E
F is 2 years older than D
A was born either in 1952 or in 1953

The oldest member of the group was
born in 1950

If F is the oldest of the group,
the correct statement -

(A) A was born in 1952
(B) D was born in 1951
(C) B was born in 195]
(D) C was born in 1954
(E) Question not attempted

E:H@%A,B,C,D,E@TFMWW@

ﬁﬁ?m%,mww&smmaﬁm—
T F|

2
3.
4.
5

then identify

given below a questiop
are 51" e
statements .I and 1. "+
two e 0 decide whether the daty *
\’oltlhc statement is/are Sufficien to X
in

fo]
132 Yoo o

3
the question-
tion : y
?vl::;: day of the week is on 5 Oy
tement : )
ISta First Sunday of this month fy,

October. '

. Year for the given date i 20y,

Answer -

(A) If data in statement I alone i suf
to answer the question

(B) If data in both the statemens
together are necessary to apg,
question.

- (C) 1If data in both the statemeny;

together are not sufficient to;
< the question.
(D) - If data in statement I alope is suf
to answer the question,
(E)  Question not attempted
D T UH W ok v 4w 3 o
1; R T ¥1 snowt e v amé

AT BTRT Wt @ wwR 3 F B
a1 T ?

L EE i

YT .
. A C¥amr i L
2.. B, D airE 2 @ ge1 2 I %ﬁﬁgqmdiw:l;ﬂﬂ
3. E D@2 af aer %) (A) o o 2023 %1
4. AT ad 1952 %, a1 g 1953 ¥ ma:%ﬁmll'ﬁﬁmwm

W ¥ % ¥

S HWEd TEl ga@ 1950 § wer ¥ &%gsqwgmmwl
uﬁFwﬁmﬁw%a‘mﬁmmqwﬁqm aﬁ'ﬁ*ﬁm —
(A) A @1 50 1952 % gam e : © op R
(B) D & w1 1951 4 g an) BT 1 oz 11 @y & far @
(©) B 5w 1951 % ganr any O mﬁ%mmqﬁy
EEE)) C @1 51 1954 % gan | ) q&a"‘m'ﬁuﬁ[wwﬂﬁﬂ
) st wew

() ?%Wﬁ%l

23INAS-11 O l’ugcz()or Tﬂ‘aﬁauﬂﬁ




133 Which number belongs to all the geometrical
figures?

A W wem & W safda Rl & w7

/45>

7

is the separation of the logical vieW
of data from jts implementation.
(A)  Data Abstraction
(B)  Testing
(C)  Initialisation
(D) Control Structure
(E)  Question not attempted

3

. s LN 2 BTN % Wik fuepyon 1 e raraa

/ i / A guaimT ¥

_ (B) i
@ s @ 6 L
©r 4 (D) 3 ol
(E) Question 1_1b1 attempted / SrgaARE 997 (E) et

134 IDE suite consolidates basic tools require to The_Bmary search algorithm assumes thf}t
: the items in the array are and it

write and . software.

(A) Test (B) Design

(C) Delete | (D) Play

(E)  Question not attempted

IDE Suite sTaax foras aur & fog
HEYTH A SUBION B FARRT HT B
(A) T& (Sa &) By feeme

(€) feie (Frrm) (D) <« (@)

(E) smgaia we7

135 Which geometrical figure represents for
Input/Output operation of an algorithm?

(A) Circle )

(B) Rectangle
(C) Parallelogram

(D) Diagonal

(E) Question not attempted

fedl weiftas & TAYe-ameeye &l 29 ¥ e
fem vafadra amgfa @1 wanT e &7

(A) 99

AB)~ e

(C) @wiaT wgyw

(D) fazv

(E) sgaftd e
23INAS-1] O
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either finds the item or eliminates half of
the array with one comparison.

(A) Sorted (B) Checked

(C) Selected (D) Unsorted

(E) Question not attempted

faememll @iw qeiftem @ wren & 5 =7 &
Hafed 3o ¥ qur 9% ug & AT
I WA € 9T 3T E Bl Gl $ SE GT
T T :

(A) =il (B) wira fwar .

(C) T ~(D) erariiga

(E) orgaftd wed -

Rashi is twice as old as Sunita. Three years
ago she was three times as old as Sunita.
How old is Rashi now?

(A) 8 years - (B) 6 years

(C) 7 years (D) 12 years

(E) Question not attempted

fyr g & FTEN @l ¥ A ad gd swa
aTryg e @ $g W T o ) i @ e

g & |
ey 7 a4 (D) 12 ad

(B) argafta wed
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133 Which number belongs to all the geometrical
figures?

T & e F e s R @ wdw §7

8 6 ‘:l 2
— /
: - 9 10
(A) 5 B) 6

S 4 (D) 3
(E)  Question not attempted / safa 9e

134 IDE suite consolidates basic tools require to

write and +__ software.

(A) Test (B) Design

(C) Delete (D) Play

(E) Question _ﬁot attempted

IDE Suite gTaax fras qan % fog
AT T d IS & Tl wear &

(A) 2= (s wem) By fewm
(C) fedie (Brerm) (D) = (5w
(E) orgaita ge
135 Which geométrical figure represents for
Input/Output operation of an algorithm?
(A) Circle
(B) Rectangle -
(C) Parallelogram
(D) Diagonal
(E) Question not attempted

Tt Teiftas & 3MYe-aeeye &t 39 ¥ firg
fre wafidg argfa @1 wdm g &7
(A) 949

e —_ isthe separation of the logical view

of data from jts implementation.
(A)  Data Abstraction
(B) Testing
(C)  Initialisation
(D)  Control Structure
(E)  Question not attempted
A Yaaiim ¥
D) ¥ g
(B)  wdegm
(C)  smivframro
(D) fr=or g
(E) oraRa wew

@The Binary search algorithm assumes that
the items in the array are and it
either finds the item or eliminates half of
the array with one comparison.

(A) Sorted (B) Checked
(C) Selected (D) Unsorted
(E) Question not attempted

faemerlt @it gerifies a7 A & fr e

RS cEEH & Q1 TE T2 B BT
TS WA & 9T Y HE @I e 6 SEI 9T
FHIS Bl 2 _

(A) aifga (B) ity fmar .

(C) g™ ~(D) et

(E) orgafa wet

Rashi is twice as old as Sunita. Three years

ago she was three 'lirjnes as old as Sunita.
How old is Rashi now?

(A) 8 years (B) 6 years

(C) 7 years (D) 12 years

(E) Question not attempted

aftr ghrar & g0 w1 AW ad gl aga
ot gefen @ 3g A A e o aid i e

By o i
; GG |
(C) . wAiT Tgyw ?Xg) 8 (B) 6 ad
(D) famed ©) 7 ad (D) 12
(B) (E) orgafta we
23INAS-1]1 O Page 27 of 32 [ Contd...



139

140
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Every NIC Carq attached to the node of g
network has a unique MAC address. This
MAC address is of bit address.
uaaa;mczméﬁfasmﬁzaésaﬂg%ﬁ%%.
ERLECIEGI) MAC ww #rr %1 78 MAC
BI® B qa By 3

(A) 96 (B) 128
(C) 256 9,. 48
(E)

Question not attempted / i wys

Which of the following diagrams best fits

for the given group of elements? Judge,
police, Thief

ﬁqaﬁ@?ﬁ%ﬁqwqﬂ?%aﬁ%mw
SUIHRT AT B 997 i)

Ty, Ry, <

o (900
. @

QQO

Pl LT} .

(E)  Question not* attempted / SR GIEGIER]

©)

141

142

®

|

: w.ncert.nic.ip/y
http://WW o o R

te:m - and which web page is TeqUegtyg,

5 . )

.ncert.nic.in/te
http://WWW s
textbook.htm q%'a' ﬁ .
b g A A gafua & ?

s ncert.nic.in

http
3. textbook

Xthg,
g,

4.  textbook.htm
5. www

Choose the correct answer from the oy
given below :

A g g faedt ¥ ¥ 9 oot @ wm
Aa) 2,3 (B) 4,5
©_1.4 W7 LS

(E)  Question not attempted / |

Identify the gateway for simple Inte
connectivity at homes.

(A)
(B)
(©)
(D)

Server
LAN
WAN

Internet Service Provider (ISP)
Question not attempted

X S B e e g €
ST werar (123) @ e

A) w

(o



143 Below is given a statement followed by S0mMe€ | 144 Which of the following comes under remote
conclusions. Assuming statement tfot]be . login?
ersally true, decide which of the : .
::lclxllizlusionsyfolIO\v from the given statement. ] Video conferencing
Statement : > Talking KiH. e
No cap is socks. Some caps are gloves. 3. Telnet
Conclusion : 4. Any PC
I.  All gloves are socks. Choosc_ the most appropriate answer from
M, Al socks ane gloves the options given below :
IlI.  Some gloves are caps. (A) Tand2 (B) Only 3
Give answer - (C) 3and 4 (D) Only 1
(A) If only conclusion II follows. (E)  Question not attempted
(B) If only conclusion III follows. et & fite wifme & oferfa o aman %7
(C) 1If none of the conclusions I, II, III 1. fafEar sisfe
follows. 5 e
(D) If only conclusion I follows. .
3. T
(E)  Question not attempted
3 T war e ¥ i s I s P R % wEHe
W&%lmﬁﬂ%ﬂéﬁrﬁwﬁﬁﬁqﬁ%gﬁiﬁa %ﬁqmﬁwﬁﬁéaﬁmwmaﬁm:
7 .
BT 5 B a1 Prad g &7 A) 12 R
FYA : .
J,Q" 3ug 4 (D) FHa« 1
&3 2 U TE ¥ 55 At a@me §)
e e (E) orgaia wew
L, & s@e e E)
‘f - , Y %) 145 IDE is basically an environment of tools like
L 3o e e 8 (A) Débugger  (B) Compiler
Jat gifrg - (C) All of these (D) Text Editor
(A) @Fa Il frerd a2 (E) Question not attempted
BT e 111 Frad wr % IDE - N
8 ?Tlmllafﬂ'?ﬂlllﬁffﬁd o ¢
© ey \ W (A) S (B) et
(D) I fovand q= #|
(E) oruf@ ggw & Al o
(B) argafta wew ,
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¢ best software o
C

. hich 18 o) fe,

146 Ravi and Gaurav arc brothers. Divya and | 149 ‘;vnumic web pees |

Tanya are sisters. Ravi's son is Tanya's 9 (B) Fil

brother. How is Gaurav related to Divya? (A) Google Mmorg

(A) Brother (B) Grandfather Ruby (D) H1vm

(C) Uncle (D) Father e tt

(E) Question not attempted (E) Questor nos .a e

M &% i 9 ¥ Ran sir armar a9 gg E) ﬁf’f aaam-wﬁ%ﬁﬁnm?\

T &1 g a1 WiE ¥ | i ofe feemn @ 2? ’

Ty §7 a7 W LS

(A ®) @ @) T Wl

T (D) fr 5

\’(Q’/ ' (©) wal £y \ﬂ))/ HTML
(E) oraia wed P

147 QR consists of three distinct sqﬁares. First
two are on the sides of the top and the last

oneisonthe Jwf the bottom. 150 Who won the titlé of Mr. Bikans i/
(A) Top (B) Right International C?jnel Festival - I
(C) Center (D) Left - organized in Bikaner? '

(E) Question not attempted

QR # & fafs= yaR & @ 21 & | 98l & FW

I\

(A) Rajesh Meég_ia

&1 spoaif ¢ e oifr A @ #m¥|  (B) Avinash Singh oS
(A) T (B) = -
i i i 78
ngﬂ a D) = (C) Ravindra J?shl
(E) rafa 3¢ (D) Kamal Sidd‘lil‘

(E) " Question not attempted

AT Y srreifore, siiea 52 SF

1 os

148 Find the missing number.
Aed dEm & o wi |

S

15120 3 . ) g -

360 6 . )

7 | 18 B)  sfmgr fie

(C ‘

(A) 7560 BT 2160 S e s %
©) 4320 M) 1800 R . &

(E) Question not attempted / argafid W ‘ o
(E) TR s 3IN/
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